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Subtraction (Horizontal) Name:
Solve each problem. Answers
1
1) 7,724 - 4,684 =
2.
2 60 - 30 = 3,
4,
3 828 - 60 =
5.
4 8,319 - 2,460 = 6.
7.
5 54 - 6 = g
9.
6) 653 - 3 =
10.
7) 5,540 - 455 = 11.
12.
8 98 - 91 =
9 7,056 - 54 =
10) 895 - 533 =
11) 1,260 - 7 =
12) 1,245 - 3 =
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Subtraction (Horizontal) Name: Answer Key
Solve each problem. Answers
1 3,040
1) 7,724 - 4,684 = 3,040
2. 30
2 60 - 30 = 30 N 768
4 5,859
3 828 - 60 = 768
5 48
4 8319 - 2.460 = 5,859 6. 650
7 5,085
5 54 - 6 = 48 . .
9. 7,002
6) 653 - 3 = 650
10. 362
7) 5,540 - 455 = 5,085 11. 1,253
12 1,242
8 98 - 91 = 7
9 7,056 - 54 = 7,002
10) 895 - 533 = 362
11) 1,260 - 7 = 1,253
12) 1,245 - 3 = 1,242
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Subtraction (Horizontal)

Name:

Solve each problem.

Answers

3,040 650
30 362 7

5,085

7,002
48

5,859
768 1

1) 7,724 - 4,684 =

2 60 - 30 =

3 828 - 60

4 8,319 - 2,460 =

5) 54 - 6 =

6) 653 - 3 =

7) 5,540 - 455 =

8 98 - 91 =

9 7,056 - 54 =

10) 895 - 533 =

10.
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